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with (document.form1){


var len = Math.abs(parm3.value);


var a1 = Math.abs(parm4.value);  //anode radius

left


var b1 = Math.abs(parm5.value);  //cathode radius


var a2 = Math.abs(parm2.value);  //anode radius

right


var b2 = Math.abs(parm1.value);  //cathode radius


var u0=4*Math.PI*1E-7;


var c0=2.99792E+8;


var e0=1/(u0*Math.pow(c0,2));


var num;


var den;


var parm_in_units;


var ca;


var cb;

 

//output parm7



num=len*u0;
//note log moved inside if!!!



den=2*Math.PI;

    
if ((den != 0)&&(!isNaN(num))&&(!isNaN(den))&&(b1>=a1)&&(b2>=a2)&&(a1>0)&&(a2>0))




{





if ((Math.abs(b2-b1))<(1e-9)){






cb=Math.log(b1);






}





else {






cb=(1/(b2-b1))*(b2*(Math.log(b2))-b2+b1-b1*(Math.log(b1)));






};





if ((Math.abs(a2-a1))<(1e-9)){






ca=Math.log(a1);






}





else {






ca=(1/(a2-a1))*(a2*(Math.log(a2))-a2+a1-a1*(Math.log(a1)));






};




num=num*(cb-ca);
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